MARJETICA - Couch bed H 72 - 2L

MONTAGEANLEITUNG
ASSEMBLY INSTRUCTIONS

NAVODILA ZA MONTAZO






P1.|M&x0

piece/Stuck 8

P2.|Mo — (@l0X14

piece/Stuck 8
\\\\\“‘W
P3.|84X35
piece/Stuck 6 M6(210x14)

M6(@10x14)
P4 Hexagon socket screw key 4mm
| /Steckschllsse 4mm
piece/Stlck 1
M6x90
PS.|#8X40 M6x90

piece/Stuck 12




@4x35

J4x35

: f @8x40

0,

0 |o

J10x14

(

M6







P1.

The housing of the damping saew
/Tos Gehduse cer Klemmsdhrauke
215 x 19

piece/Stlck | 8

(&

P2,

clamping screw/ Klemmschrauke
M10x12

piece/Stlck | 8

&

P3.

clamping screw/ Klemmschrauke
Mex30/46

piece/Stlck | 8

e

P4.

wood screw/Hdzsdrrauke 4x20mm

piece/Stlck | 8

&,

PS.

wheels/Rdcler

>

longitudinal side/ Langsseite

plece/Stlck 4

The dorsal side / Die Riickenseite

right lateral side / rechtse Lateraleiste

left lateral side / linke Lateralseite

N

floor / FuRboden

Pé6.

Hexagon socket screw key Smm
/Steckschllsse Smm

M| MO | O @

floor mount/Bodenhalterung

piece/Stlck | 1










	Sheets and Views
	MARJETICA - Couch bed H 72 - 2L-Page 1
	MARJETICA - Couch bed H 72 - 2L-Page 1 (2)

	Sheets and Views
	montažno upustvo krvet Model 2  njmački engleski-P2
	montažno upustvo krvet Model 2  njmački engleski-P3

	Sheets and Views
	montažno upustvo LADICA 100-P2
	montažno upustvo LADICA 100-P3
	montažno upustvo LADICA 100-P4


